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Какие из данных примеров 
решены верно?

а) - 2,5 · (- 4)= - 10

б)  2 · (- 6,4) = 12,8

в)  - 3,8 · (- 3) = 11,4

г) - 3,7 · 0,1 = 0,37

ВОПРОС 1



НЕВЕРНО!

ПОДУМАЙ     ЕЩЁ



МОЛОДЕЦ!

УРА!!!



Какие из данных примеров 
решены верно?

• а) - 6,3 : (- 3,1 )= - 2

• б)  - 1,1 : 0,2 = 5,5

• в) - 8,4 : ( - 4,2) = 2

• г) - 5,6 : 2,8 = - 0,2

ВОПРОС 2



МОЛОДЕЦ!

УРА!!!



НЕВЕРНО!

ПОДУМАЙ     ЕЩЁ



Решите уравнение.

–  х · (- 6,3) = -12,6

• а)  2       

• б) 79,38      

• в) - 2       

• г) – 79,38

ВОПРОС 3



МОЛОДЕЦ!

УРА!!!



НЕВЕРНО!

ПОДУМАЙ     ЕЩЁ
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ВОПРОС 4
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УРА!!!



НЕВЕРНО!
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УРА!!!



НЕВЕРНО!
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ВОПРОС 6



МОЛОДЕЦ!

УРА!!!



НЕВЕРНО!
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ВОПРОС 7



МОЛОДЕЦ!

УРА!!!



НЕВЕРНО!

ПОДУМАЙ     ЕЩЁ


